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BAL BHARATI PUBLIC SCHOOL, DWARKA

SAMPLE PAPER
CLASS - IX
SUBJECT: ENGLISH

General Instructions:

This paper is divided into two sections: A, B and C. All questions are compulsory.
Separate instructions are given with each section and question, wherever necessary.
Read these instructions very carefully and follow them.

Do not exceed the prescribed word limit while answering the questions.

SECTION-A
READING SKILLS (20 MARKS)

Q1. Read the following text passage and answer the questions that follow- (10 marks)

1. Maharana Pratap, the brave ruler of Mewar, was a legendary figure in the Indian history.
He was born on May 9, 1540 in the region of Kumbhalgarh. His name became synonymous
with indomitable courage, determination, and a firm commitment to his homeland.

2. Maharana Pratap ascended to the throne of Mewar in 1572 after the death of his father,
Maharana Udai Singh II. He fought with the ambitious Mughal emperor Akbar throughout his
reign because Akbar wanted to capture Mewar. Unlike many of his contemporaries who
succumbed to Mughal dominance, Maharana Pratap refused to bow before Akbar and decided
to fight for the preservation of his ancestral land and cultural heritage.

3. One of the defining characteristics of Maharana Pratap's character was his unwavering
commitment to the principles of valor and honour. His famous horse, Chetak, exemplified
these values, as the loyal and fearless horse played a vital role in many of his battles. The
battle of Haldighati in 1576, where Maharana Pratap faced Akbar's formidable army under
the leadership of the famous commander Raja Man Singh, is a testament to his indomitable
spirit. Despite being outnumbered, they fought with remarkable valor and the battle became a
defining moment in their legacy.

4. Maharana Pratap's life was marked by numerous hardships and sacrifices. He took refuge
in the rugged Aravalli mountains, living a life of hardship and constant struggle. He was
known to live a simple and ascetic life, emphasizing self-reliance and the importance of the
welfare of his people.

5. The character of Maharana Pratap also reflected his commitment to preserving the cultural
and religious traditions of Mewar. He was a patron of the arts and promoted a deep reverence
for valor, honor, and chivalry. His court was a hub of cultural activities. He supported artists,
scholars, and poets who enriched the heritage of Mewar.

6. Maharana Pratap's legacy endures in the annals of Indian history, not only for his military
prowess and bravery but for his unwavering spirit even in the face of adversity. His devotion



5.

to his people, his motherland and his unwavering pursuit of honor has made him an enduring
symbol of valor and patriotism.

7. Even today, his memory is celebrated in songs, stories, and festivals. His name continues to
inspire generations to stand up for what they believe in and to defend their heritage with
unwavering determination The life and legacy of Maharana Pratap is an integral part of
India's rich historical heritage, and his name is synonymous with the indomitable spirit of a
true patriot and warrior.

Answer the following questions, based on the passage above-

1.Select the qualities and characteristics that are synonymous with Maharana Pratap's legacy
in Indian history. 1

a) Indomitable courage, determination, and commitment to his homeland

b) Exceptional culinary skills and artistic talents

c¢) Mastery of foreign languages and diplomacy

d) A preference for a nomadic lifestyle and exploration

2. Describe Maharana Pratap's reign and his resistance against the Mughal emperor Akbar.
What set him apart from his contemporaries, and what were the core principles that guided
his determination to preserve his homeland and cultural heritage? Rationalize your response
in about 40 words. 2

. Complete the sentence appropriately. 1

The author's use of vivid adjectives in the paragraph (3), such as "valor and honour " and
"loyal and fearless ", greatly affects the reader about Maharana Pratap’s famous horse Chetak
because

. Find the word which means ‘with an uneven or jagged surface’ from the passage 1

a. refuse b. hardship c. rugged d. ascetic

Complete the sentence appropriately. 1
According to the author, the character of Maharana Pratap not only reflects the quality of a
great warrior but also reflects the quality of a protector of cultural and religious traditions of
Mewar.

For instance,

. Based on the reading of the passage, examine, what aspects of Maharana Pratap's legacy have

solidified his enduring position in Indian history, and how has his unwavering spirit in the
face of adversity, dedication to his people and motherland, and commitment to honor made
him a symbol of valor and patriotism? Answer in about 40 words. 2

7. Based on the understanding of the above passage, what kind of life did Maharana Pratap
lead during his refuge in the Aravalli mountains? 1

a) A life of luxury and comfort

b) A simple and ascetic life marked by hardship and struggle



c¢) A nomadic and wandering lifestyle
d) A secluded life in a palace

8. Study the following two statements that are given from the above paragraph: 1
Statement 1. "Maharana Pratap's life was marked by numerous hardships and sacrifices."
Statement 2. "He took refuge in the rugged Aravalli mountains, living a life of hardship and
constant struggle."

Now choose the appropriate conclusion:

a) The first statement defines the second statement.
b) The first statement does not define the second statement.

c) Both the statements are false.

d) The first statement compares the second statement.

Q2. Read the following passage and answer the questions that follow- (10 marks)

1. In the past years, there has been an increase in hiring in other sectors apart from the
traditional job sectors. According to the latest report of hiring platform Foundit, in October,
there was a decline in e-recruitment sectors like Customer Service, Software, Hardware,
Telecom, Finance and Accounts, Sales, Logistics, while Apart from Shipping/Marine, Travel
and Tourism, there has been growth in the offline retail sector. Increase in some of these
sectors is because of holidays.

2. Hiring in the Shipping/Marine sector increased by 44% last month on an annual basis. This
growth in Travel and Tourism sector was 30%. Apart from this, growth of 29% and 26% has
also been recorded in Retail and Advertising, Market Research and Public Relations sectors.
3. According to food service and facility management company Sodexo, about 4 lakh new
jobs have been created in the food production and kitchen industry this year. Pradeep Chavda,
HR Director of the company's India unit, says that about 3.2 lakh jobs were created in the
year 2022. In this respect, it is an increase of about 20 to 25%.
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Due to festive season and increase in government expenditure, hiring is
increasing in many sectors like travel-tourism, retail.



4.The number of stand alone restaurants is increasing across the country, along with weddings,
parties, functions, outdoor catering, and corporate events. Apart from this, the number of
cloud kitchens is also increasing. Due to this, apart from catering chefs, chef de party, pastry
chefs, cooks and other kitchen support staff, the demand for ground staff is also increasing.

Answer the following questions, based on the passage above-

Complete the following appropriately, based on your understanding of para 1 & 2

We can say that the situation of e-recruitment sectors is comparable with the offline retail
sector and one of the reasons for the growth in offline retail sector hiring
is

1
Fill the blanks with the appropriate option from those given in brackets, based on your
understanding of para 2. 1
According to the latest report from Foundit, (Customer service/

Shipping/Marine/ Software/Offline Retail) sectors experienced a decline in e-recruitment in
October.

Based on the survey results, what does the study's findings suggest about the current labor
market trends? 1

Describe the main takeaway from the study mentioned in the above passage. Rationalize your
answer in 40 words. 2

According to Sodexo, how many new jobs were created in the food production and kitchen
industry this year? 1

What percentage increase in job creation is mentioned in the passage compared to the
previous year? 1
a) 10% b)15% c¢) 18% d) 25%

How has the growth in standalone restaurants, events, and the rise of cloud kitchens
contributed to the significant increase in job opportunities in the food production and kitchen
industry, as reported by Sodexo in 20227 Answer in about 40 words. 2

Apart from catering chefs and pastry chefs, which of the following positions is mentioned as
in-demand in the industry? 1

a) Accountants

b) Ground staff

c) Marketing managers

d) IT specialists

SECTION-B (GRAMMAR &WRITING) (20 MARKS)



Q3. Complete ANY TEN of twelve of the following tasks, as directed. (10)

1. Fill in the blank by using the correct form of the word in the bracket, for the given portion

of an E-mail:

Sir,

This is with reference to your Email query; we are thrilled to inform you that you have been
(select) for the post of Asst. Professor.

il. Read the given sentence from an article on social media. Identify the error and supply the
correction in the sentence.

Social networking sites has become the latest fad among school children.

Use the given format for your response.

Error correction

ii1. Krish and Komal had a conversation about the inauguration of Komal’s book launch.
Report Krish’s question.
Are you excited about your book launch?

iv. Read the dialogue between Saloni and her dance teacher, Lakshmi, regarding her dance
performance.

Saloni: Is my posture okay when I do this movement?

Lakshmi: I think you need to work upon your back a bit.

Select the correct option to complete the reporting of the above dialogue.

Saloni asked Lakshmi if that movement. Lakshmi replied
that she thought Saloni needed to work upon her back a bit.

a. my posture was okay when she did

b. her posture was okay when she did

c. her posture is okay when she did

d. her posture was being okay when she does

v. Fill the blank by choosing the correct option, to complete the line of a story.
It was a dark moonless night. Saumya (was/were/would) returning home after her
late night-shift duty.

vi. Identify the error and supply correction for the given sentence from a marketing company.
The company aimed at increasing authority in areas frequently visited by the clients.

Use the given format for your response.

Error correction

vii. Select the option that identifies the error and supplies the correction for the following line,
from an analytical report.



Instead of a rush of text that competes for attention, your clients see a collection of beautiful
graphs those transform their historical data into actionable insights.

Option No. Error Correction
A of for

B those that

C into to

D actionable action

viii. Complete the given narrative, by filling the blank with the correct option.

One by one, snowflakes fell from a gray and motionless sky, only to and melt
instantly on the windshield.

a. lands

b. land

c. having land

d. landing

ix. Report the dialogue between a Delivery agent and his customer, by completing the
sentence:

Delivery agent: Sir, please give me a five-star rating for this order.

Customer: I need to check the packet before I give the rating.

The delivery agent requested the customer to give him a five-star rating for that order. The
customer answered that he needed to

x. Fill the blank by choosing the correct option to complete the news report.

With technological advancements and customer expectations, businesses need a
robust digital transformation strategy.

a. Evolving

b. Evolve

c. Evolution

d. Evolves

xi. Complete the line from a self- awareness song, by filling the blank with the correct option.
Delightful display

Snowdrops bow their pure white heads

To the sun's

a. glorious

b. glory

c. glory’s

d. gloried

xii. Identify the error and supply correction for the following note in a passengers’ flight
instruction manual:

The SAMPLE TESTING MESSAGE send through Cell Broadcasting System aims to
enhance public safety and provide timely alerts during emergencies.

6



Use the given format for your response.

Error correction

WRITING (10 Marks)

Q4 A. You are Deepika/Deepak. You were on your morning walk when you happened to see

an injured bird on the pavement under a huge Banyan tree. You picked it up and took it to an

avian veterinarian. Make a diary entry about your experience in not more than 120 words.
OR

Q4 B. “I was sleeping peacefully when I heard some noise from the outside. I woke up and

ran towards the balcony......... ”

Complete the story in 100-120 words, giving it a suitable title.

Q5 A. It was your father’s birthday and your mom cooked a delicious meal: write a
descriptive paragraph in not more than 120 words engaging the reader's senses by describing
a mouthwatering, homemade dish, including its appearance, aroma, and taste.

OR
QS5 B. You were down with viral fever for a few days and missed a lot of school work. A
classmate of yours helped you a lot by sharing notes. Write the descriptive paragraph in not
more than 120 words describing her appearance and thoughtful gestures.

SECTION-C(LITERATURE) (40 MARKS)

Q6. Read the given extracts and answer the questions for ANY ONE of the two, given.

A. It was a hot summer night; about ten o'clock. I had my meal at the restaurant and returned to

a o o

my room. I heard a noise from above as I opened the door. The sound was a familiar one. One
could say that the rats and I shared the room. I took out my box of matches and lighted the
kerosene lamp on the table. 5

(The Snake and the Mirror)
i. Make one inference about the following sentence, “The sound was a familiar one.”

Rationalize your response in 40 words. 2
ii. State True or False: The writer lived in a well-kept and neat house. 1
iii. The narrator says he lighted the lamp. Infer one reason for him doing so: 1

the house didn't have any power supply

he wanted to go outside in dark night

he needed to study in the light of lamp

he liked to sleep in the light of lamp

iv. Which word/phrase would correctly substitute 'shared', in the given sentence from the

extract. 1
OR

B. Kathmandu is vivid, mercenary, religious, with small shrines to flower-adorned deities

along the narrowest and busiest streets; with fruit sellers, flute sellers, hawkers of postcards;

shops selling Western cosmetics, film rolls and chocolate; or copper utensils and Nepalese

7



antiques. Film songs blare out from the radios, car horns sound, bicycle bells ring, stray cows

low questioningly at motorcycles, vendors shout out their wares. Q)
(Kathmandu)

1. What makes Kathmandu vivid? 1

a. An array of things

b. Film rolls and chocolates

c. Nepalese antiques

d. Vendors shouting out their wares

ii. “Film songs blare out from the radios, car horns sound, bicycle bells ring, stray cows low

questioningly at motorcycles, vendors shout out their wares.”

What inference can you make about Kathmandu city from the statement? 1

iii.. What effect does the writer want to create by mentioning so many things to describe

Kathmandu? Answer in about 40 words. 2

iv. Which of the following words is closest in meaning to ‘vivid’ as mentioned in the

extract: 1

a. Bright

b. Graphic

c. Typical

d. Memorable

Q7. Read the given extracts and answer the questions for ANY ONE of the two, given.
A. Let us remember, whenever we are told

To hate our brothers, it is ourselves
That we shall dispossess, betray, condemn.

Remember, we who take arms against each other Q)
(No Men Are Foreign)
i. Fill the blank with one word. 1

When the speaker says “it is ourselves That we shall dispossess, betray, condemn”, his tone is

ii. Which of the following best describes the speaker's attitude towards negative forces who
want to profit by spreading difference and hatred? 1

a. Indifferent

b. Dejected

c. Dismissive

d. Respectful

iii. Why does the poet want us to remember “whenever we are told to hate our brothers, it is
ourselves, that we shall dispossess, betray, condemn.” Explain in about 40 words. 2
iv. Which of the following words can replace the word “dispossess” as mentioned in the line:

“That we shall dispossess, betray, condemn.” 1
a. Seize b. Disinherit c. Impound d. Disgrace

B. No motion has she now, no force—

She neither hears nor sees,

Rolled round in earth’s diurnal course

With rocks and stones and trees 5



(A Slumber Did My Spirit Seal)

1. What does the following line signify? “No motion has she now, no force” 1

ii. What is the significance of the following, “Rolled round in earth’s diurnal course With
rocks and stones and trees”. Explain in about 40 words. 2
iii. Complete the sentence with the appropriate option. 1
The poet imagines her to be an part of nature.

iv. Mention the rhyme scheme used in the above stanza of the poem. 1

Q8. Answer ANY FOUR of the following five questions, in about 40-50 words. (4x3=12)

i. Margie had never studied in a regular school. But she got to know about the traditional
school. Comment on the statements. (The Fun They Had)

ii. Kezia did not have a loving relationship with her father. She always felt scared of him.
Justify this taking examples from the chapter “The Little Girl”

iii. Describe the feeling of bliss, according to the poet in the poem, ‘Rain on The Roof”.
iv. Give a brief description of the central idea of the poem, ‘Wind’.

v. In the poem “A Legend of the Northland”, the old woman ignites the fury of the Saint.
What repercussions did she have to face and why? Elaborate

Q9. Answer ANY TWO of the following three questions, in about 40-50 words. (2x3=6)

i. Sue and Jhonsy shared a special bond. Justify by taking examples from the chapter

“The Last Leaf™.

ii. “A House is not a Home” justify the aptness of the title of the chapter with reference to
examples from the chapter itself.

iii. How did Olga’s treatment of Lushkoff, brought a life altering change in the latter? Explain.

Q 10. Answer ANY ONE of the following two questions, in about 100-120 words.  (6)

Some remarkable values of Evelyn ’s character made her achieve the target despite her
handicap. Santosh Yadav also had to face the challenges from a traditional family during her
growing up years. Compare and contrast the characters of both in the light of above
statements. (The Sound of Music and Reach for The Top)

OR
“Finstein was deeply shaken by the extent of destruction during the second world war”. What
qualities of Einstein’s character are revealed by this statement? What efforts did he make to
promote peace and democracy? Elaborate

(A Truly Beautiful Mind)



Q11. Answer ANY ONE of the following two questions, in about 100-120 words. (6)

Childhood is a period which is full of joyful moments. The child in the “The Lost Child” is
fascinated to see many things before going to the fair but later on, the same things didn’t
bring him any joy. Comment and justify the statements taking examples from the story.

OR
In the chapter “The Happy Prince”, the little Swallow feels colder and colder but kept up her
determination to help/support the Prince. How did the bird show his great strength and
courage? Explain.
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BAL BHARATI PUBLIC SCHOOL
CLASS - IX
SUBJECT- SCIENCE
SAMPLE PAPER

TIME -3 HRS MAX MARKS:80

General Instructions:

1. This question paper consists of 39 questions in 5 sections. Maximum Marks: 80

2. All questions are compulsory. However, an internal choice is provided in some questions. A student is
expected to attempt only one of these questions.

3. Section A consists of 20 objective type questions carrying 1 mark each.

4. Section B consists of 6 Very Short questions carrying 02 marks each. Answers to these questions should
in the range of 30 to 50 words

5. Section C consists of 7 Short Answer type questions carrying 03 marks each. Answers to these questions
should in the range of 50 to 80 words.

6. Section D consists of 3 Long Answer type questions carrying 05 marks each. Answer to these questions
should be in the range of 80 to 120 words.

7. Section E consists of 3 case-based units of assessment of 04 marks each with sub-parts.

Q1. | Which of the following is the term used for the practice of bee culture? 1
(a) Sericulture ( b) Apiculture ( ¢) Agriculture ( d) Pisciculture

Q2. | Cells of intercalary meristem lacks 1
(a) vacuoles ( b) nuclei ( ¢) cytoplasm (d) cell wall

Q3. | Living cells were discovered by 1
(a) Robert Hooke (b) Purkinje (c) Leeuwenhoek (d) Robert Brown

Q4. | The covering of the cell that separates the content of the cell from its external environment is called 1
(a) cell wall (b) cytoplasm (c) cell membrane (d) nucleus

Q5. Flexibility in plants is due to 1

(a) collenchyma

(b) sclerenchyma
(c) parenchyma

(d) D) chlorenchyma

Q6. | Suppose a boy is moving with a uniform velocity of 10 m/s on a merry-go-round ride. Which of the 1
following is true of the given scenario?

(a) The boy is at rest

(b) The boy is moving with no acceleration

(c) The boy is moving with accelerated motion
(d) The boy is moving with uniform velocity

Q7. | Aqirlis carrying a school bag of 3 kg mass on her back and moves 200 m on a levelled road. The work | 1
done against the gravitational force will be (g =10 m s72)
(a) 6 x10%J (b)613 (c) 0.6 (d) zero

Q8. | Atomicity of Chlorine and Argon is : 1
(a) Monoatomic and diatomic respectively

(b) Diatomic and diatomic respectively

(c) Diatomic and monoatomic respectively

(d) Monoatomic and monoatomic respectively

Q9. | Sound travels in air if 1
(a) particles of medium travel from one place to another

(b) there is no moisture in the atmosphere

(c) disturbance moves

(d) both particles as well as disturbance travel from one place to another.




Q10.

The value of acceleration due to gravity

(a) is same on equator and poles (b) is least on poles
(c) is least on equator (d) increases from pole to equator
Q11. | Which one of the following sets of phenomena would increase on raising the temperature?
(a) Diffusion, evaporation, compression of gases
(b) Evaporation, compression of gases, solubility
(c) Evaporation, diffusion, expansion of gases
(d) Evaporation, solubility, diffusion, compression of gases
Q12. | Two particles are placed at some distance. If the mass of each of the two particles is doubled, keeping
the distance between them unchanged, the value of gravitational force between them will be
(@) 1/4 times (b) 4 times (c) 1/ 2 times (d) unchanged
Q13. | Which of the following properties does not describe a compound?
(a) It is composed of two or more elements
(b) It is a pure substance.
(c) It cannot be separated into constituents by physical means
(d) It is mixed in any proportion by mass
Q14. | The name of A, B, C and D in the following diagram are:
> =i
TRE
(a) A - Solidification, B - Vaporisation, C Fusion, D - Condensation
(b) A - Vaporisation, B - Fusion, C Condensation, D - Solidification
(c) A - Fusion, B - Vaporisation, C Condensation, D - Solidification
(d) A - Condensation, B - Vaporisation, C Solidification, D — Fusion
Q15. | A sample of NH;molecule irrespective of source contains 82.35% Nitrogen and 17.65% of Hydrogen
by mass. This data supports:
(a) Law of Conservation of Mass
(b) Las of Multiple Proportions
(c) Law of Definite Proportions
(d) Avogadro’s Law
Q16. | The inertia of an object tends to cause the object

(a) to increase its speed

(b) to decrease its speed

(c) to resist any change in the state of rest or of motion
(d) to decelerate due to friction

The questions below (Q.17 to 20) consist of an Assertion and a Reason. Use the following key to choose the
appropriate answer.

(a) Both A and R are true, and R is the correct explanation of A.

(b) Both A and R are true, but R is not the correct explanation of A.

(c) Adis true but R is false.

(d) Ais false but R is true.

Q17. | Assertion(A): Nitrogen is a micronutrient.
Reason(R): Micronutrients are nutrients required in small quantity.

Q18. | Assertion: If the net external force on the body is zero, then its acceleration is zero.
Reason(R ): Acceleration does not depend on force.

Q19. | Assertion (A): Rutherford’s atomic model was that it could not explain the stability of atoms.
Reason (R): Any charged particle during acceleration would radiate energy, and while revolving, it
would lose its energy and eventually fall into the nucleus.

Q20. | Assertion(A): Work done by or against gravitational force in moving a body from one point to




another is independent of the actual path followed between the two points.
Reason (R) : Gravitational forces are conservative forces.

SECTION B
Q21. | Observe the given diagram and answer: T —
i O = i
(a) Identify the type of tissue 1 ‘:,»"l’
(b) Where is this tissue located in the plant? [ = G
(c) What is the function of this tissue? =L el
X p—< ) |

Q22. | Give the chemical formula for the following compounds and compute the ratio by mass of the

combining elements in each one of them.
(a) Magnesium acetate (b) Calcium hydroxide
OR

Q22. |(a) Calculate the molecular mass of CuSQO4.5H-0.

(b) An atom M of an element reacts with oxygen to form M,0s. Calculate the valency of M.

Q23. | Give reasons:

(@) Short duration maturing crops are beneficial to farmers.
(b) Italian bee variety is preferred over other varieties.

Q24. | A car starts from rest and moves along the x-axis with a constant acceleration of 5 m/s? for 8 seconds.
If it then continues with constant velocity, what distance will the car cover in 12 seconds since it started
from the rest?

Q25. | How does a speed of sound changes :

(a) Temperature of medium
(b) Physical state of medium
Q26. | State postulates of Bohr’s model with the help of diagram.
OR
Q26. | Explain why CI atomic mass is taken as 35.5 u and not as a whole no. like 32 or 36.
SECTIONC
Q27. | (a) Differentiate between the plastids commonly found in roots and flowers/fruits of plants.
(b) Mitochondria can make some of their proteins. Give reason.
Q28. | Derive the unit of force using the second law of motion. A force of 5 N produces an acceleration of
8 m s2on a mass m; and an acceleration of 24 m s on a mass m,. What acceleration would the same
force provide if both the masses are tied together?

Q29. | Two objects of masses m; and m having the same size are dropped simultaneously from heights h;
and hz respectively. Find out the ratio of time they would take in reaching the ground. Will this ratio
remain the same if (i) one of the objects is hollow and the other one is solid

Q30. | A student heats a beaker containing ice and water. He measures the temperature of the content of the
beaker as a function of time. Which of the following (shown in figure given below) would correctly
represent the result? Justify your choice.

:5 100°C > § 100°C "{-_: 100°C E 100°C /
T N T . T | T IS
lime ;‘I.])Hm - lime :;:;Il:l - lllll('(liflhill - I'in)('(((l;lllnl —
Q31. |Three students A, B and C prepared mixtures using chalk powder, common salt and milk respectively

in water. Whose mixture:

(i) would not leave residue on filter paper after filtration?
(ii) would show Tyndall effect?

(iit) would settle down at the bottom when left undisturbed?
(iv) could be filtered by filter paper?




(b) The teacher instructed three students ‘A’, ‘B’ and ‘C’ respectively to prepare a 50% (mass by volume)
solution of sodium hydroxide (NaOH). ‘A’ dissolved 50 g of NaOH in 100 mL of water, ‘B’ dissolved
50 g of NaOH in 100 g of water while ‘C’ dissolved 50 g of NaOH in water to make 100 mL of
solution. Which one of them has made the desired solution and why?

OR
(b) Give the expression for the concentration of a solution. How will you prepare a 10% solution of
glucose by mass in the water?

Q32.

(a) Which, type of muscles, i.e., smooth or striated are found in the iris of the eye?
(b) Why are smooth muscles called involuntary muscles?
(c) In what way they are different from striated muscles with respect to number of nuclei?

Q33.

Give three points of difference between sclerenchyma and parenchyma tissue.

SECTION D

Q34

(a) Which part of the above diagram carries the ‘hereditary
material’?

(b) Who discovered the nucleus for the first time?

(c) Why is it called the ‘control centre’ of the cell?

(d) How is this nucleus different from the nucleus of a bacterial
cell?

Chromatin

Nuclear
membrane

Nucleolus

Nuclearpore Nucleoplasm|

Q35.

(a) Derive the formula for the potential energy

(b) The power of a motor pump is 2 kW. How much water per minute the pump can raise to a height
of 10 m? (Given g =10 m s-2)

(c) A freely falling object eventually stops on reaching the ground. What happens to its kinetic
energy?

Q36.

Q36.

The given figure depicts the atomic structure of an atom of an element ‘X’.

-
N
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Write the following information about the element ‘X’.
(a) Atomic number of ‘X’
(b) Mass no. of ‘X’
(c) Valency of ‘X’
(d) Representation of element X
(e) ‘X’ should be metal or non-metal. Why?
(f) If an atom of element X acquires noble gas configuration by accepting requisite no. of electrons,
then write the ionic form of this element.

(g) Write the chemical formula of any compound of this element.
OR

(a) On the basis of the number of protons, neutrons and electrons in the samples given below, identify:

iii)

the pair of isotopes

SAMPLE PROTONS NEUTRONS ELECTRONS
A 17 18 16
B 18 19 18
C 17 20 17
D 17 17 17
1) the cation
i) the pair of isobars, and

(b) The average atomic mass of a sample of an element X is 16.2 u. What are the percentage of
isotopes 15X and 18X in the sample?

SECTION E

Case- based / data- based questions with sub-parts.




Internal choice is provided in one of these sub-parts

Q37. | Three different cropping patterns- X, Y and Z are applied to get the maximum benefits from a crop
field. In X, two or more crops are grown together in the same field in different rows or strips. In Y
also, two or more crops are grown together but not in definite rows. In Z, different crops are grown on
a piece of land in a pre-planned succession. These cropping patterns maintain soil fertility and crop
yield.

a) Identify X, Y and Z.
b) What benefit do these cropping patterns offer?
c) What is the basis of selecting crops in these patterns? Explain using examples.

Q38. Two friends Shefali and Anuj make a toy telephone by joining two plastic cups through a long string.
They both stand apart. Anuj speaks softly into one cup and Shefali hears by putting her ear in the
other cup. Now, Shefali speaks and Anuj listens.

Read the given passage carefully and give the answer of the following questions:

(a) What type of waves are produced by voice of Anuj and Shefali in the air inside the plastic
cup?

(b) What type of waves are produced in the string?

(c) Why is sound wave called a longitudinal wave?

(d) Waves of frequency 100 Hz are produced in a string as shown in figure. Give its amplitude
and wavelength.

Be«e—20cm—> F
saml T
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Q39. | Read the text carefully and answer the questions:

In order to verify the law of conservation of mass, a student mixed 6.3 g of sodium carbonate and 15.0
g of ethanoic acid in a conical flask. After experiment, he weighed the flask again. The weight of the
residue in the flask was only 18.0 g. He approached the teacher who guided him to carry the experiment
in a closed flask with a cork. There was no difference in weight of the flask before and after the
experiment.

(a) What was the mistake committed by the student?

(b) Why did not the two weights match earlier?

(c) How did the teacher help him?

(d) What lesson was learnt by the student?
OR
(d) Which law of chemical combination does this support?




QL.

Q2.

Q3.

Q4

Q5.

Q6.

Q7.

Qs.

Qo.

BAL BHARATI PUBLIC SCHOOL,DWARKA
CLASS - IX
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SUBJECT: MATHEMATICS
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TIME: 3 Hrs

General Instructions:

1.All questions are compulsory.

2.The question paper consists of five sections- A, B, C, D and E.

3.Section A comprises of 20 MCQs of 1 mark each.

4.Section B comprises of 5 Very Short Answer Type questions of 2 marks each.

5. Section C comprises of 6 short answer type questions of 3 marks each.
6.Section D comprises of 4 Long Answer Type questions of 5 marks each.

7. Section E comprises has 3 case-based questions (4 marks each) with sub parts.

SECTION A
If 28 =729, then z is

a) irrational number  b) rational number  c) neither rational nor irrational number  d) natural number

The decimal expansion of the number V8 is

a) a finite decimal b) 1.732 C) non-terminating recurring d) non-terminating non-recurring
V6 x V8 is equal to
a) 3V4 b) 4V3 c) V14 d) 6V8

The degree of the polynomial V15 is
a) %2 b)0 c)1l d)-1

If x=1 and y=1 is a solution of equation 9ax + 12ay =63, then the value of a is
a)3 b) 0 c) -3 d)4

Solution of the equation 3x —y = 3 is
a) (0, -3) b) (2, 3) c) (3, 6) d) All of these

Postulates are assumed:
a) Universal truth specific of geometry b) Universal truths in all branches of mathematics ¢) Definitions

Euclid arranged all known work in the field of mathematics in his treatise called:
a) Elements b) Axioms c) Postulates d)Theorem

If three or more points do not lie on the same straight line, the points are called —
a) Concurrent points  b) Collinear points ¢) Non Collinear Points  d) Adjacent Points



Q10.  The angles which is two times its complement is
a) 120° b) 60° c) 30° d) 100°

Q11. If one angle of a triangle is equal to the sum of the other two angles, then the triangle is
a) an equilateral triangle b) an isosceles triangles c) an obtuse triangle d) a right triangle

Q12.  The figure obtained by joining the midpoints of the sides of rectangle taken in order is a

a) Square b) Parallelogram ¢) Rhombus d) Rectangle
Q13. If two consecutive sides of a rhombus are represented by 3x — 6 and x + 14 then the perimeter of the rhombus is
a) 10 b) 24 c) 70 d) 96
D [
In parallelogram ABCD, bisectors of angles A and B intersect each other at O then
Q14.  values of the AOB is
a) 90° b) 30° c) 60° d) 120°
A B
Q15. A parallelogram must be a rectangle if its diagonals
a) Bisect each other  b) Are congruent ¢) Are perpendicular to each other d) None of these
Q16.  Anequilateral triangle of side 9cm is inscribed in a circle. The radius of the circle is:
a) 3cm b) 3V2 cm ¢) 3V3 cm d) 6cm
A
£

Q17 In the given figure O is the center of a circle and ZBAC = 40°, then LOBC=?
©a)40° b) 50° c) 80° d) 20°

E\-—-_’/C

Q18.  The height of a cone of diameter 16cm and slant height 17cm, is

a) 12cm b) 15cm ¢) V69cm d) V194cm
Q19.  The surface area of a solid hemisphere having radius r
a) 2ar b)3r’ ¢) 47" d) 2/37r"
Q20.  Todraw a frequency polygon we need of the class interval for x-axis and frequency of the respective class
for y-axis
a) upper limit b) lower limit c) class-mark d) range
SECTION B

Q21. If in a triangle AB = 16cm, BC =12cm and AC =14cm. Find the area of AABC and hence its altitude corresponding
to side BC.

Q22.  If AABC is an isosceles triangle such that AB = AC, then prove that altitude AD from A on BC bisects it.
Q23. If the angles of a triangle are in the ratio 1:3:5 then show that the triangle is obtuse angled triangle.

Q24.  Express 0-3778 in the form of p/q where p and q are integers and q#0



Q25.

Q26.

Q27.
Q28.

Q29.

Q30.

Q31.

Q32.

Q33.

Evaluate (196)? using the suitable identity.

SECTION C

Factories: x® + 6x% + 11X + 6

Find two solutions of the equation 7x + 2y =28. Check whether (-2, 10) is solution of the given equation.
A

In the given figure, if AB= AC, 2BAD = 2CAE then prove that AADE is an isosceles
triangle.

OR
Prove that angles opposite to the qual sides of an isosceles triangle are equal

In the figure, AABC is right angled at B. If AB=9¢cm AC=15c¢m and D and E are the A
mid points of AB and AC respectively calculate the length of DE.

OR D E

ABCD is a trapezium in which AB is parallel to DC, BD is a diagonal and E is the i
mid- point of AD. A line is drawn through E parallel to AB intersecting BC at F. '
Show that F is the mid -point of BC. —f—

A triangular park ABC has sides 120m, 80m, and 50m. A gardener has to put a fence all around it and also plant some
trees inside the garden to get clean air.

i) Find the cost of fencing it at the rate of Rs.50 per meter.

ii) Find its area where gardener may plant the tree.

Three spheres of radii 3cm, 4cm and 5¢cm are melted together to form a single sphere. Find the radius of new sphere.
SECTION D

If x= 3+2+/2, Evaluate x3 + (1/x3)

If the polynomials az® + 422 + 3z — 4 and z® — 4z + a leave the same remainder when divided by z — 3, find the value

of a.

OR
Ifa+b+c=5andab+ bc+ ca= 10, then prove that a + b® + ¢ —3abc = - 25.



Q34.

Q35.

Q36.

i) Prove that cyclic parallelogram is a rectangle. Pf—__—
ii) In given figure ZPOR =100° where P, Q and R are points on the circle with
centre O. Find Z OPR.

OR

i) If given figure O is centre of circle. If £ZAOC=130° then fine £ ABC
ii) If two non-parallel sides of a trapezium are equal prove that it is cyclic

quadrilateral. A @ o

B
Draw the histogram and frequency polygon from the following data
Class 0-10 10-20 20-30 30-40 40-50
Frequency 8 15 20 12 16

SECTION E

Saumya has to reach her office every day at 10:00 am. On the way to her office, she drops her son at school. Now,
the location of Saumya’s house, her son’s school and her office are represented by the map below. Using the

details given, answer the following questions.

lunit=1 km |
6T | onbothaxes
5 e L «ueg0 ¢ Office
4 | 3
3+
2+
o et i esnssivasas s ¢ school
Home—» Hi
9l 4 2 3 4 5 & 7 B
i) Find the distance between Saumya’s office and her son’s school.
i) Find the distance between Saumya’s home and her son’s school.

iii) Find the coordinates of Saumya’s office.




Q37. Ajay prepared a dish and kept it in a hemispherical bowl of 30 cm diameter. He distributed the dish in
cylindrical cups of diameter 15 cm and height 4 cm among his friends.

a) What is the volume of bowl?

b) What is the volume of 1 cup?

c)How many friends were with Ajay?

Q38. Under tree plantation programme students of class IX planted total (3x? -4x-4) trees in
school.
a)What is the degree of polynomial 3x? -4x-4.
b) Find the zeroes of polynomial 3x? -4x-4.
¢)If total number of students in the class are (x-2), then find the number of trees planted by
each student.(assuming each student planted equal number of trees)
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CLASS 9
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General Instructions:

1. Question paper comprises Six Sections — A, B, C, D, E and F. There are 37 questions in the question paper.
All questions are compulsory.

2. Section A — From question 1 to 20 are MCQs of 1 mark each.

3. Section B — Question no. 21 to 24 are Very Short Answer Type Questions, carrying 2 marks each. Answer to
each question should not exceed 40 words.

4. Section C contains Q.25 to Q.29 are Short Answer Type Questions, carrying 3 marks each. Answer to
each question should not exceed 60 words.

5. Section D — Question no. 30 to 33 are long answer type questions, carrying 5 marks each. Answer to each question
should not exceed 120 words.

6. Section-E - Questions no from 34 to 36 are case based questions with three sub questions and are of 4 marks each.

7. Section F — Question no. 37 is map based, carrying 5 marks with two parts, 37a from History (2 marks) and
37b from Geography (3 marks).

8. There is no overall choice in the question paper. However, an internal choice has been provided in few questions. Only
one of the choices in such questions have to be attempted.

9. In addition to this, separate instructions are given with each section and question, wherever necessary.

10.Note: CBQ stands for “Competency Based Question”. 50% weightage allocated for competency-based questions.

Section A

1. No one can employ a child below the age of 14 to work in any factory or mine in any hazardous work,
with which law the mentioned statement is associated ?

a) Right to freedom of religion b) Right against Exploitation
¢) Cultural and educational right d) Right to equality

2. Which element does firm maximize?

a) Profit b) Wages

c) Salary d) Remuneration

3. Read the following data that shows the production of Foodgrains in India (Million Tonnes) and select the
appropriate option from the following.

74 Gn 277.43 38137

24

N ~
N

Source: Department of Agricultural, Cooperation and Farmers Welfare, Annual Report, 2018 -19.
In which decade did India experience the highest decadal increase in foodgrain production?

a) 1980-81 b) 1970-71

c) 1990-91 d) 2010-11

4. Choose the appropriate answer.
A. The cabinet decide to give 27% job reservation to backward classes.
B. Parliament upheld reservation as invalid.

a) Both A and B are false b) A is false but B is true
c) Ais true but B is false d) Both A and B are true




5. Which of these countries was related to Allied powers:

a) Germany b) Britain
c) Turkey d) Austria
6. In which country free and fair elections are not held?

a) Both China and Mexico b) India
c) Mexico d) China

7. Assertion (A): It was finally in 1946 that women in France won the right to vote.
Reason (R): The Constitution of 1791 reduced women to passive citizens.

a) Both A and R are true and R is the correct b) Both A and R are true but R is not
explanation of A. the correct explanation of A.
c) Alistrue but R is false. d) A is false but R is true.

8. Thirty-year-old Lakha Singh works as a daily-wage labourer in an urban area. He lives in a one-room
rented house in a crowded basti in the outskirts of the city. It’s a temporary shack built of bricks and clay
tiles. The money is not enough to sustain his family of six-that includes his wife and four children aged
between 12 years to six months. Lakha Singh is unhealthy and not able to work efficiently as his intake of
accepted average calorie requirement is very low. With respect to the above case analyse what is the
standard accepted average calorie requirement.

a) 4800 per year b) 3600 per month
c) 2100 per day d) 2400 per week
9. Which of the following exercises only nominal powers?

a) Cabinet b) Prime Minister
c) Lok Sabha d) President

10. On the political map of France, A is marked as a place that was in a state of alarm on 14th July 1789
following the king's command. Identify it from the following options.

=

a) Bastille b) Nantes
¢) Marseillaise d) Paris

11. Which of the following is/are true with reference to Chief Election Commissioner?
A. He/She is appointed by the President.
B. Once appointed, he/she is not answerable to the President or the government.




a) A is false but B is true b) A is true but B is false

c) Both A and B are false d) Both A and B are true
12. In which country one person, one vote, and one value is not applied?

a) India b) Nepal

c) Fiji d) Sri Lanka

13. Arrange the following in correct sequence with respect to the period in which the event occurred:
i. Germany pulls out of League of Nation

ii. The situation of Hyperinflation in Germany

iii. Nazi youth League established

iv. Hitler joins the German Worker's Party

a) v, iii, ii, i b) ii, iv, i, iii
c) iv, ii, i, iii d) i, ii, iii, iv

14. Read the information given below and select the correct option
The Constitution began with a Declaration of the Rights of Man and Citizen. Rights were established as
‘natural and inalienable’ rights, that is, they belonged to each human being by birth and could not be taken
away. It was the duty of the state to protect each citizen’s natural rights. With the help of given information,
choose which of the following rights was not established as ‘natural and inalienable’ rights?

a) Right to life b) Freedom of speech
c) Freedom of opinion d) Right to constitutional remedies

15. Which of the following is a Constitutional right?
a) Right to Property b) Right to Equality
¢) Right to Freedom and Religion d) Cultural and Educational Right

16. On the political map, A is marked as a metropolitan city characterized by River Yamuna and is located at
the terminal part of the Aravali hill range. Identify it from the given options.
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a) Lucknow b) Dehradun
¢) New Delhi d) Chandigarh
17. In which of the following states is the Wular lake located?
a) Jammu and Kashmir b) Punjab
¢) Rajasthan d) Uttar Pradesh

18. Who in France, wanted the government to encourage cooperatives and replace capitalist enterprises?




a) Robert Owen b) Louis Blanc
c) Rousseau d) Karl Marx

19. Which of the following is a primary economic activity?

a) Banking b) Trade

c) Forestry d) Transport
20. The total length of the coastline of the Indian mainland is

a) 9,000 km b) 8,878 km
c) 7,516 km d) 6,500 km
Section B

21. Write a short note on Himadri.[2]
22. What do you understand by 'people as resource'? [2]
OR
What efforts have been taken by the government in the field of education?

23. Pakistan under General Pervez Musharaff was a democratic country or non-democratic. Give reasons.[2]

24. How is food security ensured in India?[2]

Section C

25. How do PDS dealers resort to malpractices? [3]

26. Who was father Gapon? Narrate the events leading to the Bloody Sunday incident and the 1905 Revolution. [3]
Explain the concept of Karl Marx about the socialist sggety.

27. Explain what measures should be taken to come out of sex unfavorable ratio.[3]

28. How can you prove that elections are democratic?[3]

29. What is the importance of civil servants in running the government?[3]

Section D

30. How did France become a constitutional monarchy?[5]

Why is the period between 1793-94 referred as the Re(i)g; of terror.

31. What ideas justify that how temperature varies from place to place and season to season in our country?[5]

OR
Why is the unifying influence of the monsoon on the Indian sub-continent quite perceptible?

32. What is the impact of unemployment?[5]
OR
"Human resource is an indispensable factor of production”. Elucidate.

33. State 5 functions of the Prime Minister of India. [5]
OR
State the role of President in a Democratic country.




Section E

34. Read the following text carefully and answer the questions that follow:
‘For this earth is not allotted to anyone nor is it presented to anyone as a gift. It is awarded by providence to

i.

people who in their hearts have the courage to conquer it, the strength to preserve it, and the industry to put
it to the plough.The primary right of this world is the right to life, so far as one possesses the strength for
this.Hence on the basis of this right a vigorous nation will always find ways of adapting its territory to its
population size.” -Hitler, Secret Book, ed. Telford Taylor.

To what can be the crimes of Nazis be linked? (1)

ii. What, according to Nazi ideology, was the position of the people on this territory? (1)
iii. Explain the Nazi ideology related to the geopolitical concept. (2)

35. Read the following text carefully and answer the questions that follow:

India is one of the ancient civilisations in the world. It has achieved multifaceted socio-economic progress
during the last five decades. It has moved forward displaying remarkable progress in the field of agriculture,
industry, technology, and overall economic development. India has also contributed significantly to the
making of world history. India is a vast country. Lying entirely in the Northern hemisphere the mainland s
between latitudes 8°4'N and 37°6'N and longitudes 68°7'E and 97°25'E. The Tropic of Cancer divides the
country into almost two equal parts. To the southeast and southwest of the mainland, lie the Andaman and
Nicobar Islands and the Lakshadweep Islands in the Bay of Bengal and the Arabian Sea respectively. The
southernmost point of the Indian Union was submerged under the seawater in 2004 during the Tsunami.
i.Name the southernmost point of the Indian Union that submerged under the seawater in 2004 during the
Tsunami. (1)

ii. Tropic of Cancer divides the country into almost two equal parts. What is the latitudinal value of the
Tropic of Cancer? (1)

iii. Give the names of India's two island groups. (2)

36. Read the following text carefully and answer the questions that follow:

Mahatma Gandhi National Rural Employment Guarantee Act, 2005 aims to provide 100 days of wage
employment to every household to ensure livelihood security in rural areas. It also aimed at sustainable
development to address the cause of drought, deforestation and soil erosion. One-third of the proposed jobs
have been reserved for women. Prime Minister Rozgar Yozana is another scheme which was started in 1993.
The aim of the programme is to create self-employment opportunities for educated unemployed youth in
rural areas and small towns. They are helped in setting up small business and industries. Rural Employment
Generation Programme was launched in 1995. The aim of the programme is to create self-employment
opportunities in rural areas and small towns. A target for creating 25 lakh new jobs has been set for the
programme under the Tenth Five Year plan. Swarnajayanti Gram Swarozgar Yojana was launched in 1999.
The programme aims at bringing the assisted poor families above the poverty line by organising them into
self help groups through a mix of bank credit and government subsidy. Under the Pradhan Mantri Gramodaya
Yozana launched in 2000, additional central assistance is given to states for basic services such as primary
health, primary education, rural shelter, rural drinking water and rural electrification. The results of these
programmes have been mixed. One of the major reasons for less effectiveness is the lack of proper
implementation and right targeting. Moreover, there has been a lot of overlapping of schemes. Despite good
intentions, the benefits of these schemes are not fully reached to the deserving poor. Therefore, the major
emphasis in recent years is on proper monitoring of all the poverty alleviation programmes.

i.Explain any one cause for the less effectiveness of poverty alleviation programmes? (1)

ii.Explain any two features of the Mahatma Gandhi National Rural Employment Guarantee Act 2005? (1)
iii.What objectives did SGSY have? (2)




Section F
37. 1. Two places A and B have been marked on the given outline map of the world. Identify then and write
their correct names on the lines drawn near them
A. The city where the fortress-like prison was stormed.
B. Territories under German expansion.
ii. On the outline map of India locate and label ANY THREE of the following with suitable Symbols.
a. Pulicat - Lake
b. Mudumalai - Wildlife Sanctuaries
c.The state has the lowest density of population
d. Ranganthitto - Bird Sanctuaries




BAL BHARATI PUBLIC SCHOOL,DWARKA
ARTIFICIAL INTELLIGENCE (417)
Class IX (Session 2024-25)
SAMPLE PAPER
Time Allowed: 2 Hours Maximum Marks: 50

General Instructions:

1. Please read the instructions carefully.

2. This Question Paper consists of 21 questions in two sections — Section A & Section B.
3. Section A has Objective type questions whereas Section B contains Subjective type
questions.

4. Out of the given (5 + 16 =) 21 questions, a candidate has to answer (5 + 10 =) 15
questions in the allotted (maximum) time of 2 hours.

5. All questions of a particular section must be attempted in the correct order.

6. SECTION A — OBJECTIVE TYPE QUESTIONS (24 MARKS):

1. This section has 05 questions.

i. There is no negative marking.

ii1. Do as per the instructions given.

iv. Marks allotted are mentioned against each question/part.

7. SECTION B — SUBJECTIVE TYPE QUESTIONS (26 MARKS):

i. This section contains 16 questions.

ii. A candidate has to do 10 questions.

ii1. Do as per the instructions given.

iv. Marks allotted are mentioned against each question/part.

SECTION A: OBJECTIVE TYPE QUESTIONS

Q. 1 Answer any 4 out of the given 6 questions on Employability Skills (1 x 4 = 4 marks)

1) | Identify the following symbols and write the name of it :

a)

b)

1) | What is the best way to start our day positively?
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(a) Think about all that can go wrong.

(b) Think about the difficult test you will face during the day.

(c) Think about all your accomplishments so far and feel good about it.
(d) Think about the traffic on the road and feel stressed.

iii)

Which shortcut key is used for Copy Option?
a)Ctrl + P b)Ctrl +V
c)Ctrl+C d)Ctrl+Z

How can we conserve our health and environment?(Choose all the correct options)
a)Grow organic crops

b)Use natural fertilisers

c)Use excessive pesticides for better yield

d)Reduce the use of plastic

Which of the following is NOT one of the 3 Ps of Public Speaking?
a) Preparation

b) Practice

c¢) Performance

d) Procrastination

Vi)

Why is having a positive attitude important for self-confidence?
a) It helps in handling situations calmly

b) It guarantees success without effort

c) It eliminates the need for learning

d) It allows people to ignore problems

Q. 2 Answer any 5 out of the given 6 questions.(1 x 5 =5 marks)

i)

Find the output of the following code:
vowels=[‘a’,’e’,"i’,"'0","u’]
val=vowels.pop (2)

print (val)

Variational Autoencoders (VAEs) are best suited for:
a) Content classification

b) Image reconstruction and generation

¢) Speech-to-text conversion

d) Predicting stock market trends

Given the series of numbers below. Try to identify patterns and correlations of terms in
them and give the missing number.
1,1,2,3,5,8, ,21,34

Statement(A):Problem scoping is unnecessary if the Al model is strong.
Statement(B):A good Al model can solve any problem without understanding the issue.
a)Both A and B are true.
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b)Both A and B are false.
C)A is true,but B is false

d)A is false,but B is true
v) | Which one of the following represents Quality Education SDG?
a) - b) M
|!!\ i
c) d)
vi) | Identify the Al domain:(Data Science,CV,NLP)
a)ldentifying traffic signals:
b)Rock Paper Scissors :
Q. 3 Answer any 5 out of the given 6 questions (1 x 5 =5 marks)
1) | What will be the output of the following Python code?
i=2
while 1 < 6:
print (1)
i=1i+ 2
(a)246
(b)2345
()24
(d1234
i)
Statement(A): Generative Al can be used to create fake videos known as deepfakes.
Statement(B): Al models can manipulate real video footage and replace faces or voices.
a) Both A and B are true. b) Both A and B are false.
c) A is true, but B is false d) A is false, but B is true
iii)) | Choose the figure which is different from the rest?
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M| E| W |H

(A) (B) (Q) (D)

a) Figure A
b) Figure B
¢) Figure C
d) Figure D
iv)
What is the output of the following code?
list = [5, 15, 25, 35, 45, 55, 65]
result = list[::2]
print (result)
a) [5, 15, 25, 35, 45, 55, 65] b) [5, 25, 45,65]
c [15, 35, 55] d)[25, 55]
v) | Which of the following is an example of graphical data representation?
a) Tables
b) Paragraphs
c¢) Pie Charts
d) Lists
vi) | The 'Where' in the 4Ws of a problem statement helps identify:
a) The reason behind the problem
b) The location or environment where the problem exists
c¢) The people responsible for the problem
d) The timeframe for solving the problem
Q. 4 Answer any 5 out of the given 6 questions (1 x 5 =5 marks)

Write down each Generative Al tool functionality shown in the images

SArtbreeder
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b) v

Match the Following

Column A (Function/Feature) Column B (Definition/Use Case)

1. print()

a) Reads input from the user

2. input()

b) Returns the length of a string or list

3. len()

c¢) Used for commenting in Python

4. # (Hash Symbol)

d) Displays output on the screen

a) 1-d, 2-a, 3-b, 4-c
b) 1-a, 2-d, 3-c, 4-b
¢) 1-b, 2-c, 3-d, 4-a
d) 1-c, 2-b, 3-a, 4-d

iii)

What is the value of x? 10x-8=6x

a) 8 b) 4
¢)2 d)6

Match the following:

Column A

Column B

1)Problem Scoping

a)Checking model performance and accuracy

2)Evaluation

b)Understanding and defining the problem

3)Data Acquisition

¢)Gathering relevant and authentic data

4)Data Exploration

d)Cleaning and analyzing data

a) 1-b, 2-a, 3-c, 4-d
b) 1-c, 2-d, 3-a, 4-b
c) 1-d, 2-b, 3-a, 4-c
d) 1-a, 2-c, 3-b, 4-d

Which of the following is a Primary Data Source?

a) Kaggle

b) Google Dataset Search
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¢) Government Reports

d) Surveys
vi) | Statement(A): Data processing helps computers understand raw data.
Statement(B): Data interpretation is the step before data processing.
a) Both A and B are true. b) Both A and B are false.
c) A is true, but B is false d) A is false, but B is true
Q. 5 Answer any 5 out of the given 6 questions (1 x 5 =5 marks)
1) | Name the type of Generative Al used for creating new sentences that mimic the style of
Shakespeare or generating dialogue for a chatbot.
a)Real Data
b)GANs
c)VAEs
d)RNNs
i1) | Which mathematical concept is used to predict outcomes of events, such as the results of
a coin toss or the likelihood of rain tomorrow?
a) Linear Algebra
b) Probability
c¢) Calculus
d) Statistics
1i1) | What is the correct order of the Data Pyramid from bottom to top?
a) Wisdom — Knowledge — Data — Information
b) Data — Information — Knowledge — Wisdom
¢) Information — Data — Wisdom — Knowledge
d) Knowledge — Data — Information — Wisdom
iv) | Match the following:
Column A Column B
1)Data Processing a)Protecting personal and sensitive data
2)Cybersecurity b)Representing data in rows and columns for easy
analysis
3)Data Privacy c)Converting raw data into useful information
4)Tabular Data d)Protecting systems and networks from cyber threats
Interpretation

a) 1-c, 2-d, 3-b, 4-a
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b) 1-c, 2-d, 3-a, 4-b
c) 1-a, 2-b, 3-d, 4-c
d) 1-c, 2-a, 3-d, 4-b

Which Python mode allows writing and executing a single line of code at a time?
a) Script mode

b) Interactive mode

c¢) Debug mode

d) Compiled mode

Vi)

Which mathematical concept is used to determine things like how much area a shape
covers or how steep a line is when training Al models?

a) Probability

b) Statistics

c¢) Calculus

d) Linear Algebra

SECTION B: SUBJECTIVE TYPE QUESTIONS

Answer any 3 out of the given S questions on Employability Skills (2 x 3 = 6 marks)
Answer each question in 20 — 30 words.

Q6 | What are three important reasons why communication is essential?
Q7 | What is the importance of personal hygiene?
Q8 | Identify figures A and B and then write down about them.
(A) (B)
Q9 | Explain any two ways of Conserving Energy.
Q10 | Kanika is interested in starting her own start-up but lacks confidence. Could you guide

her on the benefits of becoming an entrepreneur?

Answer any 4 out of the given 6 questions in 20 — 30 words each (2 x 4 = 8 marks)

Q11

Define the following terms ;
a)Statistics

b)Probability
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Q12 | What are Data Security and Privacy? How are they related to AI?

Q13 | Write a Python program to calculate average marks of 3 subjects taking input from the
user.

Q14 | Explain the two different types of Data Types.

Q15 | Name all the four types of Generative Al.

Q16 | As Artificially Intelligent machines become more and more powerful, their ability to

accomplish tedious tasks is becoming better. Hence, it is now that Al machines have
started replacing humans in factories. While people see it in a negative way and say Al
has the power to bring mass unemployment and one day, machines would enslave
humans, on the other hand, other people say that machines are meant to ease our lives.
If machines over take monotonous and tedious tasks, humans should upgrade their
skills to remain their masters always. What according to you is a better approach
towards this ethical concern? Justify your answer.

Answer any 3 out of the given 5 questions in 50 — 80 words each (4 x 3 = 12 marks)

Q17 | (a) In which mode would you prefer to write a large Python program? Justify your
answer. (2 marks)
b)List any four commonly used flowchart symbols and their meanings. (2 marks)

Q18 | a)What is Generative AI? (2 marks)
b)Differentiate between Generative Al and Conventional Al (2 marks)

Q 19 Problem: Pest infestation damages crops

The cotton industry in India consists of & million local farmers. Cotton crops frequently get infected with
the Pink Bollworm. It is difficult to see these insects with the naked eye. Small farmers find it very difficult
to get rid of these insects. They do not have advanced tools and techniques to protect their plants from
Pink Bollworm.

O / PEST CONTROL

Create a problem statement template for our pest management case study.

Page 8




has a problem that

when / while

An ideal solution would

Q20 [ a)Explain Data Literacy. (2 marks each)
b)Explain the two sources of data acquisition: primary and secondary data sources.
Q21 | A box contains 6 red balls and 4 blue balls. You are asked to pick one ball randomly

without looking. (Consider all events as individual) — Attempt any four parts.
Fill in the blanks with: likely, unlikely, certain, impossible, equal probability.

a) If you pick from the box without looking, it is that you will pick a
red ball.

b) If you pick from the box without looking, it is that you will pick a
green ball

c) If all blue balls are removed and you pick without looking, you will

pick a red ball.

d) If 2 red balls are removed from the box and you pick without looking, there is an
that you will pick a red or a blue ball.

e).If you pick from the box without looking, it is that you will pick a
blue ball.
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BAL BHARATI PUBLIC SCHOOL, DWARAKA
Annual 23--24
PAINTING (049)
CLASS IX

Time — 2 hrs. Marks — 30

General Instructions

Section-A Attempt all Questions (Each Question will carry 1 mark)
Section-B Attempt all Questions (Each Question will carry 2 Marks)
Section-C Attempt any two Questions (Each Question will carry 6 Marks

S.No. | SECTION-A | Marks
Select the right answer from the given options:
Q1. a | A: Indrawing normally 4B Pencil is used. 1
R: Because 4B pencil is made of soft graphite which can render light to dark
vanishing of shades.
a. Adsincorrect and R is incorrect.
b. As incorrect and R is correct.
c. Alscorrect and R is correct.
d. Alis correct and R is incorrect.
b | This Visual Element defines the lightness or darkness of a color. 1
a. Value
b. Colour
c. Balance
d. Proportion
¢ | What designs are used in a rangoli? 1
a. Flowers
b. Lamps
c. Geometric
d. All of the above
d is an artistic technique used in the field of art in which the artist sketches 1
the contour of a subject by drawing lines that result in a drawing that is essentially
an outline; the French word contour meaning, “outline.”
a. Contour Drawing
b. Pencil Drawing
c. Conte Drawing
d. Pen Drawing
e | The substance in a paint or dye that gives its colour is 1

a. Binder
b. Pigment
c. Minerals
d. None




f | . A: Blending is a technique of two or more colour gentle mixing. 1
R- Blending softens the change from one colour to another.
a. Aiscorrectand R is incorrect.
b. Alscorrectand R is correct.
c. Alisincorrect and R is correct.
d. Ajsincorrect and R is incorrect.
g | Which of the following statements are correct about Yakshas? 1
a. Kubera is king of Yakshas
b. Yakshas are the custodians of Treasure
c. Bothland2
d. Neither 1 nor
h | In Hinduism and Buddhism tradition a mandala can guide you through a universe of 1
suffering to one of
a. Eternal Life
b. Joy and happiness
c. Healing
d. Transformation
SECTION-B
(Short answer type questions)
Answer for this question is expected in around 100 words
Q2. | Name any four materials of Painting and mention their merits? 2
Q3. | Why is Texture important in art? 2
Q4. | What is complementary colours ? 2
Q5. | Write down the colours in VIBGYOR? 2
Q6. | What is the difference between the water colours and the poster colours? 2
Attempt any two questions from the given options.
(Long answer type questions)
Answer for this question is expected in around 200 words
Q7. a | Explain the famous work of Ramkinkar Baij from your course of study in detail 6
b | Explain all the water colour technique and steps in detail 6
c | Discuss Colour Wheel in detail? 6




